

$$g' = f'(a) + \mathcal{O}(\|a\|)$$

$$g'(x) = f'(1) + \mathcal{O}(\|x-1\|) = \frac{1}{2} + \mathcal{O}(\|x-1\|)$$

$$\text{HOP, } -\frac{1}{2} f'(0-h) \mathcal{O}(\|0-h\|) + \mathcal{O}(\|0-h\|)$$

$$g = \frac{1}{2} \frac{1}{x} \Rightarrow n = \frac{1}{x} \Rightarrow n = -1$$

$$f' = n - 1$$

$$\Rightarrow n - 1 = -1 \Rightarrow n = 0$$

$$f(x) = \frac{x-2x}{\sqrt[3]{x^2}} \rightarrow f'(1) = \frac{-2(\sqrt[3]{1}) - \frac{2}{3}(1)^{-\frac{1}{3}}(\frac{2}{\sqrt[3]{1}})}{\sqrt[3]{1}} = -\frac{10}{3}$$

$$g(x) = \frac{|x-2| + \sqrt{3x}}{\sqrt[3]{x^2}} \rightarrow g'(1) = \frac{(-1 + \frac{3}{\sqrt{3}})(1) - \frac{2}{\sqrt[3]{1}}(1+\sqrt{3})}{3\sqrt[3]{1^2}}$$

$$g'(1) = -1 + \frac{3\sqrt{3}}{4} - \frac{2}{3} - \frac{2\sqrt{3}}{3} = -\frac{10}{3} - \frac{\sqrt{3}}{4}$$

$$f'(1) \times g'(1) = -\frac{10}{3} + \frac{10}{3} + \frac{2\sqrt{3}}{4} = \frac{\sqrt{3}}{2}$$

$$f''(a) \rightarrow f_{+}(a) = f_{-}(a)$$

$$n=0 \rightarrow \text{مشتق هراضداد است} \quad \times$$

$$n=1 \rightarrow f'_{-}(a) = 0, \quad f'_{+}(a) = 1 \quad \checkmark \rightarrow \boxed{n=1}$$

$$n > 1 \rightarrow f'_{-}(a) = 0, \quad f'_{+}(a) = m(\underbrace{x-a}_{a-a=0})^{n-1} \quad \times$$

$$(f \circ g)' = g'(\frac{r}{\sqrt{\lambda}}) \times f'(g(\frac{r}{\sqrt{\lambda}}))$$

$$g(\frac{r}{\sqrt{\lambda}}) = \frac{1}{\sqrt[3]{\frac{9}{\lambda} - 1}} = r \rightarrow g'(\frac{r}{\sqrt{\lambda}}) \times f'(r)$$

$$g'(\frac{r}{\sqrt{\lambda}}) = -\frac{1}{3}(\frac{9}{\lambda} - 1)^{-\frac{4}{3}} \times \frac{r}{\sqrt{\lambda}} = \frac{9}{\sqrt{\lambda}} \times -\frac{1}{3} \times (\frac{9}{\lambda} - 1)^{-\frac{4}{3}} = -\frac{r}{\sqrt{\lambda}} \times (r^{-\frac{4}{3}})^{-\frac{4}{3}}$$

$$= -\frac{r^{\frac{4}{3}} \times \sqrt{r}}{r} = -\lambda\sqrt{\lambda}$$

$$f(x), x=2 \rightarrow f(x) = x[\varepsilon]_{+1}^2 = 4x^2 \rightarrow f'(x) = 8x(2) = 16$$

$$\frac{-\lambda\sqrt{\lambda} \times 16}{-16\lambda\sqrt{\lambda}} = 1$$

$$\lim_{h \rightarrow 0} \frac{(\phi(\Delta-h) - 1)(\phi(\Delta-h) - 1)}{h(\Delta-h)} = -\phi'(\Delta) \times \frac{(\phi(\Delta) - 1)}{\Delta}$$

4

$$\phi'(\Delta) = \sqrt[3]{n+3} + \frac{n-4}{\sqrt[3]{(n+3)^2}} \sim -\phi'(\Delta) = (\sqrt[3]{n} + \frac{1}{\sqrt[3]{n^2}}) = 1 + \frac{1}{12} = -\frac{12}{12}$$

$$-\frac{12}{12} \times \frac{1-1}{\Delta} = \boxed{-\frac{\Delta}{12}}$$

قانون مشتق $\phi(\Delta)$ $\rightarrow \frac{\phi(h) - \phi(\Delta-h)}{h} = \phi'(\Delta)$